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Chap. 3: Problems and Applications

Exercises 7. & 8.

7. Seafront properties along the south coast of France have a price inelastic supply, and cars have a price elastic supply. Suppose that a rise in population doubles the demand for both products (that is, the quantity demanded at each price is twice what it was).

a.	What happens to the equilibrium price and quantity in each market?




b. Which product experiences a larger change in price?




c. Which product experiences a larger change in quantity?




d. What happens to total consumer spending on each product?





8. Suppose that business travellers and holidaymakers have the following demand for airline tickets from Munich to Naples:
[image: Ein Bild, das Text enthält.

Automatisch generierte Beschreibung]








a.	As the price of tickets rises from €200 to €250, what is the price elasticity of demand for (i) business travellers and (ii) holidaymakers? (Use either the midpoint or point method in your calculations.)





b.	Why might holidaymakers have a different price elasticity to business travellers?
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think is most appropriate for this example.)
e. As a result of the calculation made in 5d. above, what would you recommend the owners of the club do if there are
ST . consistently empty seats in the stadium and they want to maximize revenue?

Market research has revealed the following information about the market for chocolate bars: d = 1,600 — 300P, and

Problems and the supply schedule is Gs = 1,400 + 700P. Calculate the equilibrium price and quantity in the market for chocolate bars.

Application ‘ % o :
SR Seafront properties along the south coast of France have a price inelastic supply, and cars have a price elastic supply.

Suppose that a rise in population doubles the demand for both products (that s, the quantity demanded at each price is
twice what it was)

a. What happens to the equilibrium price and quantity in each market?

b. Which product experiences a larger change in price?

c. Which product experiences a larger change in quantity?

d. What happens to total consumer spending on each product?

Suppose that business travellers and holidaymakers have the following demand for airline tickets from Munich to Naples:

Quantity demanded  Quantity demanded
Price () (business travellers) (holidaymakers)
150 2,100 1,000
200 2,000 800
250 1,900 600
300 1,800 400

a. As the price of tickets rises from €200 to €250, what is the price elasticity of demand for (i) business travellers and
(ii) holidaymakers? (Use either the midpoint or point method in your calculations.)
b. Why might holidaymakers have a different price elasticity to business travellers?

Consider public policy aimed at smoking.

a. Studies indicate that the price elasticity of demand for cigarettes is about 0.4. If a packet of cigarettes is currently
priced at €6 and the government wants to reduce smoking by 20 per cent, by how much should it increase the price
through levying a tax?

. If the government permanently increases the price of cigarettes, will the policy have a larger effect on smoking one
year from now or five years from now? Explain.

. Studies also find that teenagers have a higher price elasticity of demand for cigarettes than do adults. Why might
this be true?

Part 7: Trade 10 Explain why the following might be true: a drought around the world raises the total revenue that farmers receive from

the sale of grain, but a drought only in France reduces the total revenue that French farmers receive.
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